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Specific Latent Heat Worksheet 
This worksheet accompanies slide 14 of Specific Latent Heat.ppt
Complete the specific latent heat calculations below. Remember that 1 kg = 1,000 g and energy absorbed = mass × specific latent heat.
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1. 30 g of ice is put into a glass of water. The specific latent heat of fusion for ice is 330,000 J/kg. Calculate the energy required to melt all of the ice.

Answer: ………………………


2. The water is then heated so that it all evaporates.    Calculate the specific latent heat of vaporization if there is 330 g of water before adding the ice, and 813,600 J of energy is supplied to evaporate all of the water.
Answer: ………………………
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